

Contract Time:

Florida Department of Transportation

06/22/2020

Vendor Ranking

Page 1 of 1

Letting: 08200609 June 09, 2020 02:30 PM **Call Order**: 007

District: Turnpike Counties: BROWARD, MIAMI-DADE, Fed Aid No: N/A

PALM BEACH, TURNPIKE Project(s): 19077855225 (*)

Contract Desc: LANDSCAPING - ZONE 1

365 CALENDAR DAYS

Ranl	vendor Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid	
1	VISUALSCAPE INC.	Responsive	Winning bid	\$498,640.00	100.00% Int	tent to
2	ARAZOZA BROTHERS CORPORATION	Responsive	Non-Winning Bid	\$634,375.00	127.22%	
3	SUPERIOR LANDSCAPING & LAWN SERVICE, INC.	Responsive	Non-Winning Bid	\$720,400.00	144.47%	

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.

POSTING DATE AND TIME: JUNE 23, 2020 AT 4:00 PM



Florida Department of Transportation



Tabulation of Bids

Page 1 of 4

 Letting:
 08200609
 June 09, 2020
 Call Order:
 007
 Contract:
 E8S62

 District:
 Turnpike
 Counties:
 BROWARD, MIAMI Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

DADE, PALM BEACH, Project(s): 19077855225 (*)

Contract Descr: LANDSCAPING - ZONE 1

The work specified in this contract consists of installation and establishment of landscaping at various locations on the Homestead Extension of Florida's Turnpike, Milepost (MP) 0.0 to 46.5, Florida's Turnpike, MP 0.0X to 100.0, and Sawgrass Expressway, MP 0.0 to 22.5.

The work shall include providing landscape installation, site preparation, herbicide application, mulching, and a ninety (90) day Landscape Establishment Period for each work location.

Prior to beginning work under this Contract, the Contractor shall submit to the Engineer for approval, two copies of the Contractor's proposed plan and methods for performing the work, including a listing of equipment and personnel anticipated for use.

No U-turns shall be permitted as a condition of this Contract, except at Service Plazas.

NO PRE-BID CONFERENCE WILL BE HELD FOR THIS PROJECT.

CONTRACTOR EXPERIENCE DOCUMENTATION: Expertise and Experience is required in the performance of Landscaping. The Experience in Landscaping form (850-070-09) must be filled out and submitted with the bid to be reviewed by the Department. If a Contractor is presently prequalified with the Department in landscaping, it is not necessary to submit the form.

	antity nits	(1) VISUALS	CAPE INC.	(2) ARAZOZA CORPOR		· ,	LANDSCAPING ERVICE, INC.	
() indicates item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount	
SECTION: 0001 (MAINTENANCE SUPPORT SERVICES (MH								
0005 0570 1 2 7,50 PERFORMANCE TURF, SOD	00.000 SY	5.60000	42,000.00	6.75000	50,625.00	3.90000	29,250.00	
0010 0580 2 1 LANDSCAPE- RELOCATE TREE, PALMS <14' OF CLEAR TRUNK	5.000 EA	915.00000	4,575.00	1,200.00000	6,000.00	880.00000	4,400.00	
0015 0580 2 2 LANDSCAPE- RELOCATE TREE, PALMS >14' OF CLEAR TRUNK	5.000 EA	1,328.00000	6,640.00	1,500.00000	7,500.00	1,440.00000	7,200.00	



Page 2 of 4

Florida Department of Transportation



Tabulation of Bids

Letting:	08200609	June 09, 2020	Cal	II Order: 007		Contract:	E8S62	
	/ Item ID Alterna	te Quantity Units	(1) VISUALS	CAPE INC.	(2) ARAZOZA CORPOI		(3) SUPERIOR & LAWN SE	LANDSCAPING RVICE, INC.
() indicat	es item is bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
S	ECTION: 0001	(MAINTENANC	E SUPPORT SER	VICES (MH				
LANDSCAF	80 4 2 PE- PALMS, DISTRICT FROM PROJECT LIST	150.000 EA	1,017.00000	152,550.00	1,500.00000	225,000.00	2,640.00000	396,000.00
LANDSCAF SPECIFIED	80 5 21 PE- TREES, DISTRICT FROM PROJECT LIST R GROWN 7 GALLON	200.000 EA	77.00000	15,400.00	70.00000	14,000.00	56.00000	11,200.00
LANDSCAF SPECIFIED	80 5 22 PE- TREES, DISTRICT PFROM PROJECT LIST, R GROWN 15 GALLON	500.000 EA	136.00000	68,000.00	150.00000	75,000.00	115.00000	57,500.00
LANDSCAF SPECIFIED	80 5 23 PE- TREES, DISTRICT PFROM PROJECT LIST, R GROWN 30 GALLON	450.000 EA	364.00000	163,800.00	425.00000	191,250.00	370.00000	166,500.00
LANDSCAF SPECIFIED	80 524 PE-TREES, DISTRICT FROM PROJECT LIST R GROWN 45 GALLON	25.000 EA	747.00000	18,675.00	600.00000	15,000.00	880.00000	22,000.00
	580173 ARATION & MULCHING	2,500.000 SY	5.70000	14,250.00	12.00000	30,000.00	3.90000	9,750.00
	580301 1 GUYING (TREES)	25.000 EA	62.00000	1,550.00	100.00000	2,500.00	90.00000	2,250.00
	580301 2	25.000 EA	103.00000	2,575.00	150.00000	3,750.00	90.00000	2,250.00



Florida Department of Transportation

06/22/2020

Page 3 of 4

Tabulation of Bids

Letting:	08200609	June 09, 2020	Са	II Order: 007		Contract:	E8S62				
Line No / Item ID Alternate Quantity Item Description Units		(1) VISUALSCAPE INC.		(2) ARAZOZA BROTHERS CORPORATION		(3) SUPERIOR LANDSCAPING & LAWN SERVICE, INC.					
() indicates	item is bid as Lump Su	m	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount			
SEC	SECTION: 0001 (MAINTENANCE SUPPORT SERVICES (MH										
0060 E580 MULCH WOO	326 4 D CHIPS	2,500.000 SY	3.45000	8,625.00	5.50000	13,750.00	4.84000	12,100.00			
0001 MAINTE	ENANCE SUPPORT SERVICES (MH)			\$498,640.00		\$634,375.00		\$720,400.00			
	Contract	Grand Totals:		\$498,640.00		\$634,375.00		720,400.00			



Florida Department of Transportation

06/22/2020

Tabulation of Bids

Page 4 of 4

Letting: 08200609

June 09, 2020

Call Order: 007

Contract:

E8S62

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.